
YF05-1A YF05-4A

YF05-2A YF05-5A

YF05-3A YF05-6A

(1)  6 × □ +55

(2)  6 × □ + 55 = 79

          □ = 4            A：4 枝

(1)  □ × 7 + 30 = 380

(2)  □ = 50              A： 50 元

(1)  100－□ = 60－15

(2)  □ = 55

□ × 10 × 20 = 4400

□ = 22              A：22cm

( 15 + □ ) × 22 ÷ 2 = 440

□ = 25              A：25cm

□ × 20 ÷ 2 = 250

□ = 25              A：25cm

□ = 3

□ = 50 □ = 35

□ = 30 □ = 5

□ = 20

0.017 × 45 = 0.765

10－0.765 = 9.235     答：9.235公斤

49.27 × 15 = 739.05   

答：739.05公尺

0.52 × 24 = 12.48

24－12.48 = 11.52

法一：

( 17.29 + 25.73 ) × 5 = 215.1

法二：

17.29 × 5 + 25.73 × 5

= 86.45 + 128.65 = 215.1

答：
晚：12.48小時
白：11.52小時

答：215.1公升
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93/12/08

240 ÷ □－0.8 = 4
□ = 50

( 369－□ ) × 5 = 600
□ = 369－( 600 ÷ 5 ) = 249

( □ ÷ 17 ) + 146 = 452
□ = ( 452－146 ) × 17 = 5202

275－( □－24 ) = 184
□ = 275－184 + 24 = 115

設水深□公尺
60 × 45 × ( □ × 100 ) = 81 × 1000
□ = 81000 ÷ 1000 ÷ 60 ÷ 45
     = 0.3 答：0.3 m
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YF05-1B YF05-4B

YF05-2B YF05-5B

YF05-3B YF05-6B

(1)  □ × 12 + 175

(2)  □ × 12 + 175 = 211

          □ = 3            A：3 元

(1)  □ × 4－120 = 880

(2)  □ = 250              A： 250 元

(1)  88－□ = 25 × 3

(2)   □ = 13              A：13 顆

□ × 18 × 25 = 6750

□ = 15              A：15cm

( □ + 36 ) × 34 ÷ 2 = 867

□ = 15              A：15cm

□ × 25 ÷ 2 × 8 = 2000

□ = 20              A：20cm

□ = 85 □ = 99

□ = 16 □ = 100

□ = 10 □ = 3

□ = 5

5.784 × 12 = 69.408

100－69.408 = 30.592     答：30.592公尺

49.836 × 4 = 199.344

答：199.344公分

( 52.714－38.256 ) × 3 = 43.374

52.714 × 3－38.256 × 3

= 158.142－114.768

= 43.374
答：43.374元

17.85 × 23 = 410.55

答：410.55公克
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(38.4)

(60.68)

(1004)

(1.392)

□－7 × 8 = 19
□ = 19 + 56 = 75

( □ + 196 ) ÷ 25 = 8
□ = 8 × 25－196 = 4

5000－□ × 8 = 320
□ = ( 5000－320 ) ÷ 8 = 585             
                                                   答：585公克

□ × 2 × 3.14 = 62.8
□ = 62.8 ÷ 3.14 ÷ 2 = 10
                                                   答：10公尺

□ × 1000－150
           6 

法一：

法二：
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